LOCUS (DATE3)Y x NUMBER OF COINS (A.D.) TOTALS

(375-92) x 1

(378-92) x 3

(379-95) =z 1

(383) x 10

(383-92) x 4

(383-95) x 14

(393-95) x 1

(395-408) x 1

(Unidentified) x 40 80
110 (276-82) x 1 1
111 (336-37) x 1

(341-86) x 1 2
113 (351=61) x 1

(Unidentified) x 3 L
114 (335-37) x 1

(351-61) x 2

(378-83) x 1

(383) x 4

(383-95) x U4

(393-65) x 3

(395-408) » 1

(Unidentified) x 36 52
115 (383) x 1

(383-95) =x 1

(393-95) x 2

(Unidentified) x 7 11
17 (364-75) =x 1

(365-75) x 1

(383) x 1

(383-92) x 7T

(383-95) x 12

(Unidentified) x 36 58
118 (257-59) x 1 1
120 (Unidentified) x 1 1
124 (335-41) x 1

(237-41) x 1

(341-46) x 1

(346-50) x 1

(351=-8B4) x 1

(351=61) x 5

(363=-64) x 1

(364-75) x 5

(367-75) x 4

(367-83) x 1 (Gratian, Pl. 000:6)
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